Solving Proportions								Name: _____________________________

Proportion says that two ratios (or fractions) are equal.


How do we solve proportions?

With cross multiplication, which states
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		Cross Multiplication
Why does cross multiplication work?

Because…. if we multiply both sides by the product of the denominators. The numbers will naturally cancel.
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Setting up and Using Proportions in Geometry.
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10. How many liters are in the first bottle?
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Solve each proportion. Leave your answer as a fraction in simplest form.
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Find the values of x and y.
1. AMNP ~ ADEF 2. AABC ~ AXYZ
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Solve each proportion. Round your answers to the nearest hundredth.
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Solve using a proportion.
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Duane paid $2.24 for 8 apples. Joanne bought S apples at the same
rate. How much did Joanne pay for the apples?

‘The ratio of boys to gils in a science class is 2 : 3, There are 18 girls
in the class. How many students in the class are boys?

‘The cost of sending 20 pages using a commercial fax machine is $18.
At this rate, how much will it cost to send 30 pages using the same fax
‘machine?

A recent school bond passed with 3 out of every 4 votes in favor of
the bond. A total of 2550 people voted against the bond. How many
people voted in favor of the bond?

During the first day of a tip, Mario drove 168 mi and used 6 gal of
gasoline. At this rate, how many gallons of gasoline will Mario use
for a 588-mile trip?

Isabel worked 32 h last week and was paid $197. At the same rate,
what will Isabel be paid if she works 40 h this week?

The ratio of flour to sugar in a recipe is 3 to 2. The recipe calls for
1 cups of lour. How many cups of sugar are needed?

Five compact cars were sold for every three sedans sold af 2 car

dealership last month. A total of 21 sedans were sold last month.
‘How many compact cars were sold?

The ratio of acid fo water in a mixture is 3 to 7. ‘The mixture contains
30mL of acid. How much water does the mixture contain?
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Solve each proportion. Leave your answer as a fraction in simplest form.
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Each pair of triangles is similar. Find the unknown distance 1.
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An oak tree casts a shadow of 14 ft. A 30 ft flagpole casts a shadow
of 6 ft. How tall is the oak tree?

6. A 1000 ft building near the Sears Tower in Chicago casts a shadow of
400 f. The Sears Toweris 1454 f tall. How long a shadow docs the

Sears Tower cast?
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Application: Indirect Measurement
Wite a proportion to find each missing measure x. Then find x.

3 “rors —T— —mn—

£

L 40cm L 25 X 14
2en I -

[=l=]=]
ooo
[=]=]=]
@"‘ oo

150 km.




image1.png
ad = bc




image2.emf



8 ⋅4 ⋅ 5
8
= n
4
⋅8 ⋅ 4



4 ⋅5 = x ⋅8
20 = 8x










8

×

4

×

5

8

=

n

4

×

8

×

4

4

×

5

=

x

×

8

20

=

8

x


oleObject1.bin

image3.emf



8 ⋅4 ⋅ 5
8
= n
4
⋅8 ⋅ 4



4 ⋅5 = x ⋅8
20 = 8x










8

×

4

×

5

8

=

n

4

×

8

×

4

4

×

5

=

x

×

8

20

=

8

x


oleObject2.bin


Pr— e

prapertionsos tht o ot o s

o e properins?

o i, e

A c
LoaS L adzbe
PR
comstnen
L —
L ——
e
TR S— ihiber
00
FI pp— i
By e
)
2

o3




